value

2.0-

15-

1.0-

0.5-

0.0-

PC.aa.C40.2

F trimmed-means(2.22,493.46) =, p = NA, 5élfzvg =0.12, Clgsy, [-0.18, 0.38], Npairs = 371
P Bonferroni—corrected = 1.55€—08
pBonferroni—cor'rected =0.00c 1
P Bonferroni-corrected = ©-45€=U/
P'Bonferroni—corrected = 0

P Bonferroni-corrected = U -2.0
PBonferroni-corrected = 4-91€=05
P Bonferroni-corrected = 2.02€=U/7
P Bonferroni-corrected = U.0UL

@
-15
-1.0
ﬁtrimmed =0.58
-0.5
ﬁtrimmed =0.30 Htrimmed = 0.41
—
-0.0
age0 agel age2 age3 aged
(n=371) (n=187) (n=52) (n = 207) (n = 207)

age

Pairwise test: Yuen's trimmed means test ; Comparisons shown: only significant

anfen



